Ans.

12. The correct match between item (I) and item (1) is :
[Jan. 11, 2019 (I)]

Item -1 Item - 11
(A) Norethindrone  (P) Antibiotic
(B) Ofloxacin (Q) Antifertility
(C) Equanil (R) Hypertension

(S) Analgesics

@) (A)—=(Q):(B)—=(R):(C)—(S)
(b) (A)=(Q):(B)—=(P):(C)—(R)
(¢) (A)—=(R);(B)—=(P):(C)—=(S)
(d) (A)—=(R):;(B)—(P):(C)—(R)

(b) (a) Norethindrone is a progesterone derivative, so it
1s an antifertility drug (Q).

(b) Ofloxacin is an antibiotic (P).

(¢c) Equanil 1s a mild tranquilizer and hence used in

hypertension (R).




